
ESPA PUMPS – SILEN S2 SERIES
Spare Part Price List 2019

PAGE. 4

Key No. CODE Model Part No. Description Retail Price
02 20710530265 SILEN S2 75/100/150/200 0000001963 BEARING                      600.00 

02 03 20710530595 SILEN S2 300 36 M 0000134643 RODAMENT 6205 2RS C3 160º 52x25x15                   1,100.00 
03 20710530600 SILEN S2 75/100/150/200 0000001964 BEARING                      700.00 
04 20710530270 SILEN S2 0000142699 RETAINER                      100.00 
05 20710530605 SILEN S2 0000149001 SHIELD                   1,700.00 
05 20710530610 SILEN S2 300 36 M 0000162603 PUMP-MOTOR SUPPORT                   3,200.00 
06 20710530615 SILEN S2 0000129424 BRACKET                   2,700.00 
07 20710530285 SILEN S2 0000142381 WASHER                      100.00 
07 20710530620 SILEN S2 300 36 M 0000070238 WASHER                      140.00 
08 20710530655 SILEN S2 200 31 0045000005 STATOR                 18,000.00 
08 20710530660 SILEN S2 300 36 0045000006 STATOR                 20,000.00 
08 20710530630 SILEN S2 75 18 0045000021 STATOR                 10,000.00 
09 20710530055 SILEN S2 M 0000133890 BOX                      500.00 
09 20710530665 SILEN S2 300 M 0000136411 BOX                      600.00 
10 20710530060 SILEN S2 M 0001000119 SCREW                      100.00 
11 20710530335 SILEN S2 75/100/150 0000189155 CAPACITOR                   1,000.00 
11 20710530675 SILEN S2 200 0000189157 CAPACITOR                   1,200.00 
11 20710530680 SILEN S2 300 0000189159 CAPACITOR                   1,800.00 
12 20710530685 SILEN S2 100 24 M 0000198808 KLIXON                      700.00 
12 20710530695 SILEN S2 200 31 M 0000198810 KLIXON                      800.00 
12 20710530345 SILEN S2 75 18 M 0010000241 KLIXON                      300.00 
13 20710530370 SILEN S 0000000028 SCREW                      100.00 
13 20710530705 SILEN S2 300 36 M 0001000011 SCREW                      100.00 
14 20710530710 SILEN S2 0000000342 RETAINER                      100.00 
14 20710530715 SILEN S2 300 M 0004100118 RETAINER                      600.00 

Chris


Chris
Parts list. Prices ex. VAT

Chris
SwimmingPoolsThailand



ESPA PUMPS – SILEN S2 SERIES
Spare Part Price List 2019

PAGE. 5

Key No. CODE Model Part No. Description Retail Price
15 20710530720 SILEN S2 0000001041 FAN                      200.00 
15 20710530725 SILEN S2 300 M 0000010367 VENTILADOR IEC90 CON GHIERA EJE-24                      200.00 
16 20710530730 SILEN S2 0000131639 FAN COVER                      200.00 
17 20710530425 SILEN S2 0000129906 ROTARY SEAL                   1,100.00 
18 20710530430 SILEN S2 0000000414 SEAL                   1,200.00 
19 20710530435 SILEN S2 8000074583 MECHANICAL SEAL (414+129906)                   2,200.00 
20 20710530750 SILEN S2 100 24 M 0011000004 IMPELLER                   1,200.00 
20 20710530760 SILEN S2 150 29 M 0011000005 IMPELLER                   1,200.00 
20 20710530770 SILEN S2 200 31 M 0011000006 IMPELLER                   1,300.00 
20 20710530780 SILEN S2 300 36 M 0011000007 IMPELLER                   1,200.00 
20 20710530755 SILEN S2 100 24 0011100004 IMPELLER                   1,300.00 
20 20710530765 SILEN S2 150 29 0011100005 IMPELLER                   1,300.00 
20 20710530775 SILEN S2 200 31 0011100006 IMPELLER                   1,300.00 
20 20710530785 SILEN S2 300 36 0011100082 IMPELLER                   1,200.00 
21 20710530790 SILEN S2 75/100/150/200 0011000009 DIFFUSER                   1,300.00 
21 20710530795 SILEN S2 300 0011000010 DIFFUSER                   1,300.00 
22 20710530455 SILEN S2 0000000324 GASKET                      200.00 
23 20710530800 SILEN S2 0004000037 O'RING                      200.00 
24 20710530805 SILEN S2 0000203263 CONJ.COS BOMBA SILEN S2 NEGRE                   9,000.00 
25 20710530810 SILEN S2 0000129423 FILTER COVER                      600.00 
26 20710530815 SILEN S2 0000129435 THREAD                      900.00 
27 20710530820 SILEN S2 0000129605 GASKET                      200.00 
28 20710530825 SILEN S2 0011000822 FILTER                      900.00 
 20710530175 SLEN S2 0000010338 PLUG                      140.00 

30 20710530170 SILEN S2 0000000390 O'RING                      100.00 
31 20710530830 SILEN S2 0000000022 SCREW                      100.00 
32 20710530835 SILEN S2 300 36 M 0000006047 SILENBLOCK                      200.00 
32 20710530840 SILEN S2 0000009321 SILENBLOCK                      200.00 
33 20710530845 SILEN S2 300 36 M 0011000339 FOOT                      600.00 
34 20710530850 SILEN S2 0001000054 SCREW                      100.00 
35 20710530200 SILEN S2 M 0000000093 SCREW                      100.00 
36 20710530205 SILEN S2 75 M 0000135136 COVER                      300.00 
36 20710530855 SILEN S2 300 36 M 0000156140 COVER                      400.00 
37 20710530860 SILEN S2 0000127994 SPANNER                      400.00 
38 20710530515 SILEN S2 0000000399 O'RING                      140.00 
39 20710530505 SILEN S2 0000127465 NUT                      300.00 
40 20710530510 SILEN S2 0000130146 UNION                      200.00 
43 20710530865 SILEN S2 T 0011000764 SCREW                      400.00 
44 20710530525 SILEN S2 T 0000000300 O'RING                      100.00 
45 20710530540 SILEN S2 T 0000200630 CARGOL DIN7500 TORX T20 M4x12 (A2)                      100.00 
46 20710530530 SILEN S2 T 0011100478 BOX                      400.00 
47 20710530870 SILEN S2 T 0000122968 GASKET                      120.00 
48 20710530875 SILEN S2 300 M 0000132518 MOTOR COVER                   1,300.00 
49 20710530880 SILEN S2 300 M 0000202629 CARGOL DIN912 M6x25 FE PAVONAT                       80.00 
50 20710530885 SILEN S2 300 M 0000169226 TORNILLO DIN7985 M4X8 (A2)                       80.00 
51 20710530890 SILEN S2 300 M 0000202633 CARGOL DIN912 M6x16 INOX A2                       80.00 
52 20710530895 SILEN S2 300 M 0000203390 MOTOR COMPL.TIFON300M CB10 10000hP2  
53 20710530900 SILEN S2 300 M 0001000022 SCREW                      100.00 

Chris


Chris
Parts list. Prices ex. VAT

Chris
SwimmingPoolsThailand


